T w
X ‘-Se -;:Jut
%du;‘zﬂxh
=::,_geudu
1du= xdx :—;eu+c
(")
L
=de HC
| 2
2) %3)("4 dx = \= " (3-4) dx
X% Y X4 X
= S—" du

w=x>-Y - S
= ’u/'l'c

|
==.A
B :/lﬂ ’x;__qxl_',(‘

3) SX’;M (qux")olx = SSM (Gt ‘lx") - xPdx

; : —réCos(ﬂtlx*/
w= 5+Hx" = SSM'A',-,,M ye
x> 4
A‘AQ ’u =i(9fnudm
. - = x?dx
IéAM s = —“Z(-—cosu) +1C




SCL‘HDV\ 12 Inkjrh"\'ov\ bj Par"s )| ‘

ex: S}c&“x SUv: uv—jvdu
Chosse u and dv | ‘-‘)(QK" s‘e e
u= X dv=e dx i
der ivaﬁ“( e )m&lm\,‘ﬁ,‘ G(e =€ x—f- Q
du =dx V¢

G (=)
xe + e A"+ 0

Product

X
Xe

lbow h | cloose U and dv:
° WIM"'(\/V (jou led o(V be , You weed 1‘0 be able +014na( V.

. T4 hvs Fdu T q{mpb../ Hien WL
G 4 lu\fs v simflu Hisn dv.
u- v - SV'AIA

o' (Qesgdd = 050 - (11040 ﬁwwse%

u= 6 dv:cosD 40
gdu: do vz $nb )

o &x%x dx
Wheatver — Here's  an fmx 5 ’d M=[w)(

W= fmx  dy = x’dx
du = - v: & )




q
4 g
= X Imx d.X
g T T 14
94 4
= X Jon X X
 EEREE N ¢
Y
! \x"’ sigdx = X (-o4- j(-mxwxux
Wn= )(q dV= finX 0‘)‘ = -XVCOfx -rJ"/xganJ)c
din= legAx V= —Cos X Uh-ah j“”‘

do (Mr'b' agarn

ALTERNATE  PARTS METHOD — TrguLag MeTHoD

devivahve antidlaiv.
_ian W dv
+ —) )( ¢inX
3\
_ _’L’x \ —cos X
+ —’ll)( —sinX
— —p2ix CoSX

-+ _’2"'\ Sin X
0 ~ 0§ X

4/ — U3

x'( cosx) Yx (—smx) + 12x ces X — 24x sinx + 24 (-“S X\ fC
y 3

—x'coox + X% sinx 4 12X cosk —2Yx sinx - 2 wsX + C




DonT Use \pButAg FoR THE LN TroBiem:
2 9X
3) SX e dx Sekxdx =T‘<—ek1"C
5§ U dv
t— X' e”
INEENED \ | 5X
X —5—8
N s
+ —= 2\ 7@
5x
T | 0 n?;e
2, 5% Sx | X

_.__29x 2 ox 5x
SXE -oXe +,—22;e + C

If.g.: 1) SXC/V\X Ax
2) S x’ ¢os(3x) Ax

3) S xq,bv\x Ax

1y






